Name Quick Check
3-12

1. Robbie subtracted 600 — 331 and got 269. Which number
sentence can he use to check his answer?

A 269 + 331 =1 C 869 —600 =W
B 600 + 269 =W D 331 -269 =1

2. On Beach A, scientists counted 940 horseshoe crabs. On
Beach B, they counted 576 horseshoe crabs. How many
more crabs did the scientists count on Beach A?

A 1,476 C 364
B 940 D 212

3. Sandy wants to have 500 people sign a letter that she will
send to the mayor. So far, 217 people have signed the letter.
How many more people need to sign for Sandy to reach

her goal?
A 66 people C 300 people
B 283 people D 717 people

4. Writing to Explain Pete subtracted 119 from 302. Then
he added to check his answer. His work is shown below.
His answer is not correct. Explain what he did wrong.
Then correctly answer the problem.

21012

302 193
-119 +119

193 302
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